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BIAE X EHER (HESSAEFL LR N1 45
2. S (2) /N R Y R R (x) B E AR nT B s e e 2, B I G B 25 5 5
21, fif . (1) R XFFRME AT 25 A OAB 5531 = MIERT A, B W 552 1 x HIX#R,

M AOAB J5531 =B, A OAB H’ijﬁ“ |AB| =12,

AL (12,4 3) 76 € 1 1RA Y =2px, 18(4,3) =24p,
g p=2,0341)
FtLL C WARIE RN ¥ =4 (4 47)
(2)H (1) 0 F(1,0)  A3405 U nlHUHZK AB R A N O,
BEHEZL AB WITFEA 2 =ky +m,A(x,,y,),B(x,,5,) ,P(%4,%,) ,
x=ky +m;
@éz{ U e dhy —4m =0,
y =4x
FRULA =16k +16m >0, 81 E* +m >0, H v, +y, =4k,y,y, = —4m,
FRELL %, 2, =k(y, +v,) +2m =4k" +2m, (7 4})
H]IH +E:4ﬁ FFCxy —x0,01 = 0) + (%5 —%0,%, =) =4(1 —x, =),

xy =2 —m -2k, .
Eﬁ‘/’\{ Bl P(2 -m -2k, -2k),(8 43)
Vi +¥2 = =2y, Yo = —2k,

NAEPTEC FLFFLLAE =42 -m =2E) B3k +m=2,D
FRDLE +m=k +2 =3 =2(1 -k) >0, f#18 -1 <k<1,
M PIEFE—RIE, L -26>0, 070 -1 <k <0. (9 43)

12 -m -2 +2E —m| 2|m-1|

X, +x, —4 = = 2x,

Eﬁu{

M PR HZ AB iR E d = = =2 AkfEitE m® —2m =k ,@(10 4})
V1 +E 1 +k
fm = “1_ m = —1—
" i o | 37 | 37 (m=2,
B 57 DA 59 <%£>&{ (&%)
N k=0
Yo 3 L 3

9 3
[E54Em )

185 (1) /N SR T AOAB B Al 45 1 475

2. (2) /M HH TR ER A4 1 g1

3.5 (2) /NI B AR S P ML TR RS —N410 1 45

PR P("" 2f) 2k AB 97T 3x +Ty + 1 =0. (12 43)

4. 55 (2) /ANEIrp B SRR 2 17 xs TR A RS Rl A F R —HA G E R 1 7

P

x =/3sin o, x=3sin" «,
22.ﬁ'{’4’=:(1)ﬁﬂ{ 1%{

¥ :\/2_EDS o }’2 =2cos .,
M5 a -+ = 10 C, MAE T (2 53)

H p(2cos @ +sin 0) =/6,15 2pcos 6 +psin 6 =6 ,
%> pcos @ =x,psin 0 =vy,15 2« +y =6 =0 HEZ LI E AL TR (44)

(2)7——-{—}?—15[:' x =pcos B,y =psin 0,

BOESCR 6 (367 50)
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fITLL 2p7cos @ +3p°sin’ 0 =6, Bl p° (2 +sin°0) =6 J C, B ARFR TR, (6 43)
2pcos 0 +psin O =./6
p (2 +sin°@) =6
FIrL) cos 26 +sin 20 =0, fif ) tan 260 = —
N p>0,0<0<2m,frll 0<<26 <4,

BRI 29 <3 jz ilhilsw

Hﬁj’—{ "5 2cos° @ + 2sin feos O =1,(7 43)

78 =T o T T

(8 77)

151

b P AT 0 P2 A T — PP L g = I, (9 47)
FIEL 6, +6, = + 2T =2 (104})
[ 34532 ] ]

LS5 (1) /a2 1 AT IR 22 S0 B AN 1075
2. 55(2) /B BRSL A R EA AR R O R TR R, B A SR, ATRYES 1 ~2 a0

-3x-2,x< -2,
23.ﬂ]§|’:;(1)‘_£|’ﬂ,—2lﬁ,f(x]—2:Jc+2+:r—-2[_{:x+6,-25152,
3x +2,x>2,
2 f(x) <7, Eﬂl{ x< =2, _JZ{ —25:1:52,21{:1::»2, (3 4)
3y —2<7 6<7 3x +2<7,
filefd —3<sx< -28F -2<x<1,

Tl -3<x<1,

FIRAARGER f(x) <7 MEER x| -3<sx<1{.(5%)

(2)f(x) = |x+a| + [x+al| + |x-a],

FAlxv+al+ [v-alzlx+a-(x-a)|=2|al, HHAY (x +a)(x -a) <O BESHLT,
v +a|=0, Y HY x= —a WESHL, (8 5)

Filllx+al + |2 +al+ |x—al=2]al, Y HLY x = - a WES BT,

Frll 2la| =10, f##5 a= -5 3¢ 5. (10 43)

[ 540 )

L2 (1) /ANEH 85 RAE i SE A S X AE R F0 1 45

2. B5(2) /N AR ESE S B SRR 1 A

BOEIcR 47 (T 50
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